CITIZEN

Service Manual

Model : CBM-230/231

Japan CBM Corporation
Information Systems Div.



CBM-230/231 Service Manua

Contents

1. Assembling / Disassembling PrOCEOUNE...........c.ei ettt ettt b et b et b e b et bbb 3
1. HOW O FEMOVE PrINLEN COVEN ..ottt sttt b et s b e bbbt e bt bbbttt nb e 4

2. HOW tO FEMOVE TOP COVEY .....oiviiriiieeii ittt bbb s h e r s b e sh e sr e s nn e sr e sr e anesnenre s 5
2.1 Remove Paper End HOlder from TOP COVES .......ooiuiiiieirnieseriee ettt et e 5

2.2 Remove SWItCh COVEr frOM TOP COVEY ......coiuiuiirieirieie sttt sttt b et b e e b e bbb b e 5

2.3 Remove Operation Panel Board from TOP COVEY .........ccoiiiririeiniei ettt e 5

3. REMOVE MECH. BIaCKet UNIt ......cocuiiieiiiiirieie ettt bbb bbb sb et bbb 6
3.1 Remove Auto Cutter from Mech. Bracket (CBM-231) .......ccccveiriiinieieriee st 6

3.2 Remove Printer Mechanism from MeCh. Brackel ..ot 6

3.3 Remove Head Up Lever from Mech. Bracket (CBM-231) .......ccccoiriinniiierieenneesiee et 6

3.4 Remove Cutter Lock Lever from Mech. Bracket (CBM-231) .......c.ccoviriiieniinininenieeniee e 6

3.5 Remove Paper Cutter from Printer Mechanism (CBM-230) .........ccuviirriiieniinneneniee e 6

3.6 Remove FG Plate from Printer MECHANISM..........couiiiiiiiiiree et 6

4. REMOVE CONLIOI BOBIT. .......cuiiitiiiteiirieie sttt bbbt bbbt b bbbt e bt b et bbb eb e et se bt e b e e b 7
5. REMOVE POWEY BOX .....oiiviiiiiiiiiiiti e e r s bt h e b s nn e sr e sr e anennenre s 7
6. REMOVE SWITCNING BOX ...ttt bbb bbbt bbbt bbbt e b et b bbb e bbb e b 8
2. CITCUIT DIBOIAIM. ...tttk bttt b bt e bbb bt b eb e s £ b e Rt bR e 4 E e bt e e b e Rt e b b e e eb e e e b e ne e bkt s e e b e e sb et s b e bt seebe e nas 9
2] Kol QDT = 0 0 OSSO TS TPRTRTORUSPRRTN 10
Circuit Diagram @ SEMal INTEITACE.......c.cirii bbbttt b et b et b b e ebe e 11
Circuit Diagram : Parallel INTEITACE........ccuviiiirieiei sttt s se b b senessesresreneas 12
CircUit DIiagram i OP PCB ASSY ...ccuctiieiriitiririetsie sttt sttt saebe bbbt b bt se bt b st s b e bt s e bt s b st s b b e se et e neeb e st s b b e b 13
Circuit DIiagram : PE PCB ASSY ..ottt sttt b et bbbt bbbt b et bt bbbt b b e b 14

3L SEIVICE PAITS LIS ...ttt bbbt bbb bbb b e b bR bbbt bt bbb e e 15

*For detailed information of LT-380 printer mechanism and AC-130 Auto Paper Cutter unit,
please refer to the separate service manual

CITIZEN 2



CBM-230/231 Service Manua

1. Assembling / Disassembling procedure

CITIZEN 3



CBM-230/231 Service Manua

1. How to remove Printer Cover

(1) Open the Printer cover
(2) Pulling the Hook into inner side, remove the Printer Cover.

Printer Cover

CITIZEN 4



CBM-230/231 Service Manua

2. How to remove Top Cover
(1) Set the Printer Mechanism at head up
condition by pulling Head up Lever in M3 x 10

i . Top Cover
the direction of the arrow. Auto Cutter op Loy

(2) Open the Auto Cuter unit (CBM-231)
Pull the Cuter Lock Lever inthe
direction of the arrow.

(3) Unfasten the screws M3x10 (2pcs).

(4) Pull up the rear side of the Top Cover.
(interface side)

(5) Disconnect the connectors for Paper End
Holder and for Operation Panel Board.

2.1 Remove Paper End Holder from Top
Cover

(1) Unfasten the tapping screw M3 x 14.
(2) Cut the band binding cord.

Tapping S ' M3 x 12
(3) Remove the cord through the Top Cover. APPInE DT

Switch Cover

2.2 Remove Switch Cover from Top Cover Tapping Screw M3 x 14
(1) Unfasten the tapping screw M3x12.

PE Holder

2.3 Remove Operation Panel Board from Top
Cover
(1) Unfasten tapping screws M 2.6 x 6 (2pcs).
TOP Cover

ey,
u@ : i ™~ Operation Panel Board

j— Tapping Screw M2.6 x 6

CITIZEN 5



CBM-230/231 Service Manua

3.Remove Mech. Bracket Unit

(1) Unfasten the screws M3x7 (2pcs).

(2) Remove the connectors of Auto Cuter and
Printer Mechanism (2pcs).

(3) Release the Lock of flexible cable and
remove the flexible cable.

? Mecha. Bracket

3.1 Remove Auto Cutter from Mech. Bracket
(CBM-231)
(1)Unfasten only one screwM 2x6.

(Mech. Bracket hastwo M2.3 x 6 screws.)
(2)Remove the cord through Mech. Bracket

3.2 Remove Printer Mechanism from Mech.

Bracket

(1) Unfasten the crews M2 x 6 (2pcs).

(2) Pulling Auto Cuter unit aslant into _
the UpSl de. / Mecha. Connector

3.3 Remove Head Up Lever from Mech. Cutter Commv

Bracket (CBM-231)
(1) Moving the Head Up Lever in the direction of
the arrow, remove the Head up lever.

3.4 Remove Cutter Lock Lever from
Mech. Bracket (CBM-231) Auto Cutter Paper Cutter FG Plate
(1) Unfasten the screw M2.6 X 6.

3.5 Remove Paper Cutter from Printer
Mechanism (CBM-230)

(1) Unfasten the screws M2 x6 (2pcs).

3.6 Remove FG Plate from Printer

Mechanism
(1) Unfasten the screw M2x6.

Cutter Lock Lever

CITIZEN 6



CBM-230/231 Service Manua

4. Remove Control Board

(1) Remove the Power Supply Connector.
(2) Unfasten the screws M 3x7(2pcs).

Control Board ‘

Power Supply Connector \

5. Remove Power Box
(1) Unfasten the tapping screws M3 x 12 (2pcs).
(2) Pull up the Power Box at the indicated side
(An arrow) and remove the Power
Box from the Bottom Cover.

Tapping Screw M3 x 12
Power Box

CITIZEN 7



CBM-230/231 Service Manua

6. Remove Switching Box
(1) Remove the Bush using atool.
(2) Unfasten the Earth screws M4 x 6 and M 3 x 6, remove the Earth Cord.
(3) Unfasten the screws M3 x 7 (4pcs).
(4) Pulling up the Power Supply Switch, remove the Switching Power Supply.
(5) Pulling the center of Shield plate, remove the Shield Plate.

(CBM-230 only)

Bush

2

|
Switching Power Supply I
Earth Screw M3 x 6\

CITIZEN 8



CBM-230/231 Service Manua

2. Circuit Diagram

CITIZEN 9



CBM-230/231 Service Manua

Block Diagram

Aiddns sjemod

ZH09

1088y T
AYZ2a ASOQ
Y
J0j0Ww
Buiddaig | 18AUQ e eoeuB|
dn-peay
puse Jeded youms dia JeAlQg
—Q —O0——
Ndd
peay ——0— puse Jeeu
Bunuug vi9 | T Jedeg
> J8ALQ > Jepun)
vy ¥ Ajuo Lgz-wad
WvH WOY
_H_ YouMms
18A09 |eued
ZHNO0'SZ 2SO uopessdp

(F

B R R S R

I

(—

ZH09/0S A0ZZ IV

AOZL OV

IZEZ-SY 01 SWI0JU0D

‘lelses

SJINOYLN3D
01 SWI04U0D

‘|ojjesed

Z 1emeuq
1 Jemelq

10

CITIZEN



CBM-230/231 Service Manua

Circuit Diagram : Serial Interface

IR

[T
%X
CUBLLADIND
[T BTy
<o

CuoLOM JVITO

C T AR KK —

-
L7

RS AT WIS

-

I
PV e 2t

oot ot

o
?

: W 2
*nggg " —4 ||

ol I

3 ‘g pnn i?"?g iigﬂx forties aREEn ¥ (f)_,x
1 B i S ..

2
H £EL H

WEE N Yy bHALH] e °
% L. ;

R

R orwusasvesds

i)t 2.
i g
<3| @
RO DAR0S RADRNRA DARLARY 3 i
bt st (00| | i

230
RN 1544

Eeabhne

ﬁ TR TR L O g 1111111 | —
g

B 7 ssmsennm
M

romnusarlhad

esrer
13

LTI = v 11

Y

sTenEn
»o1

N
1 Hi L
il 5
H i ¥ TR AN
gy
i (BEER . d W ) 4
g 3 ¥ S i .: :.': = = = ) rORNWIN (19 ~e| ¥
$ Rl : o 1 i
R I ]
PoE i

CITIZEN 11



CBM-230/231 Service Manua

Circuit Diagram : Parallel Interface

i § ! i !
& 3 3
: i § $ i
g M ] ] <
H 3
[ ] | J [ 1
2y 02 3 F k L
3,2 ' 3 "
gd—’hﬂ“—" ;g"
LIV R s
WU L 5o 5y,
2 I a Jr
ﬂwv- 2 g3 H
1 [ g
s | ; 3 9
" W ]
H ok 3
_;E b N g
& 3_} ""V:r—"‘:
.
" s
g i MG
H zi
INE :
ZF: '§n —]

= .] [r

PR : n-“" Biﬁxgzé (=2
Eit

<<<<<<<<<<<

2DD2320 33833303 pgﬁiis

EhEE oruuaaey

ornusareubiRus | &

B4

passsasasas

rO-NUsAL R

----------------
ornusnevmedLlLER

a3

vor 4

()

MARR IR AN

............
ro-nusa TReUORSE

1

Quoos 1171 WNbe OLZ-wad

AR S i et 1 %3

CITIZEN 12



CBM-230/231 Service Manua

Circuit Diagram : OP PCB Assy

SEc-1781 H&
] Vcc
Vecc
1| o
GND
T )
W1
LF Sw L SKHHBY
3] o o) 0—7,17
N SW2
il o COVER OPEN SW (> D2A-2220
NO ;l,
vce
ALARM LED R2 470 T
LED2
PE LED Y= R3 470
6| O @ VWA
LED3
R1 220
71; LED1
TH;I@%LE TREATMENT MATERAL T-
UNIT mm MARK DATE FEVISION EV o] APPR
SCALE TOLERANCE MODEL Q1Y TITLE
DIMENSION ANGLE CBM-230 %)) CBM-230/231 : OP PCB ASSY
. APPROVED |CHECKED |[DESIGNED |PARTS No
Japan CBM Corporation | @2 | g | A 230-03
04.0112 | 94.01.12 | 84.0112

CITIZEN 13



CBM-230/231 Service Manua

Circuit Diagram : PE PCB Assy

SEC-1652 M
Cord Assembly
) —
1
CN5 3
2
)
THIRD |TREATMENT MATERIAL T
ANGLE MARK DATE REVISON REVNo.
UNIT TOLERANCE MODEL aTY TITLE
7 |oiMENSON ANGLE CBM-910 n CBM-230/231 PE PCB ASSY
mm
 |cAE [cHECKD  [DESGNED [DRAWN  [PARTS No.
Japan CBM Corporation WX | A | ws 910-03
. 9. /.37 [93.05.06 | 94.01.21

CITIZEN 14



CBM-230/231 Service Manua

3. Service Parts List

CITIZEN 15



CBM-230/231 Service Manua

Mode
CBM-230/231
Service Parts List
Ref. |Parts No. Description CBM-230 CBM-231
1|E 4002-440 Chassis 50-0141 1 1
2|E 6302-340 Foot 4 4
3|E 4035-700 Insulation Sheet 1 1
5|E 4000-940 PSUnit 230-10U 120V 1 1
E 4000-950 PSUnit 230-10E 220V 1 1
8|E 6100-705 ACCord 120V 25-0184 1 1
E 6100-700 ACCord 220V 25-0298 1 1
10|E 6101-115 Bush SR-4N-4 120V 1 1
E 6101-120 Bush SR-5N-4 220V 1 1
13|E 70010660 PCB Assy CBM-230-PF 1
E 70010670 PCB Assy CBM-230-RF 1
E 70010671 PCB Assy CBM-230-RF-UL 1
E 70010680 PCB Assy CBM-231-PF 1
E 70010690 PCB Assy CBM-231-RF 1
E 70010691 PCB Assy CBM-231-RF-UL 1
15|E 66000170 Printer  LT-380 1 1
18|E 4035-710 FG Plate 50-0146 1 1
19|E 6220-530 Paper Cutter 1 1
20|E 6601-290 Printer Bracket 50-0143 1 1
22|E 8000-090 Auto-Cutter  AC-131 1 1
23|E 8010-180 Mouth Plate F 50-0144 1 1
24|E 8010-190 Mouth Plate R 50-0143 1 1
26|E 8032-060 Head-Up Lever 60-0167 1 1
27|E 8032-070 Cutter Lock Lever  60-0166 1 1
29|E 62020120 Bottom Case 1 1
30|E 62010660  |Top Case 1 1
31|E 6611-490 Paper Holder R 60-0162 1 1
33|E 5200-210 OP Sheet 1 1
34|E 4000-970 PE Holder Assy 1 1
35|E 4000-960 OP PCB Assy 1 1
37|E 62040150 Printer Cover 1
38|E 62040160 Printer Cover-AC 1
CITIZEN 16



CBM-230/231 Service Manua

Mode
CBM-230/231

Service Parts List

Ref. Parts No. Description CBM-230 CBM-231
50[23G58244 Screw M2X3 4
51|23G57466 Screw . M2X6 5 3
52|23G57473 Screw . M2.3X5 2
53{23G57481 Screw . M2.6X6 1
54|23G23179 Screw . M2.6X6 2 2
55(23G53585 Screw  M3X7 6 8
56(23G38619 Screw  M3X12 3 3
57|23G29560 Screw M3X14 1 1
58(23G42966 Screw  M3X6/TW 2 2
59(23G42959 Screw  M4X6/TW 1 1
60[23G22530 Screw . M3X10 2 2

CITIZEN

17



CBM-230/231 Service Manua

CBM-230/231 DISASSEMBLING DRAWING

18

CITIZEN



CBM-230/231 Service Manua

Mode
CBM-230/231

PCB ASSY <Seria>
Service Parts List

CBM-230/231-RF(230-01)

Ref. Parts No. Description QTY'

IC 1 |E107-220 CPU uPD70433GD-5BB 1

2 |E104-530 Gate Array  202LA-00 1

3 |E107-230 SRAM LC36256AL-10 1

4 |E107-24* EP-ROM LE27C512F 1

6 |E201-830 TTL 74L.S139 1

7 |E202-430 TTL 74LS00 1

8 |E202-860 Reset IC PST520E 1

9 |E202-880 HCMOS 74HCUO04 1

10 |E 2010200 TTL 7406 1

11 |E4101-710 DC-DC Conv. SI-8301L 1

13 |E 2010040 IIFIC MAX232CPE 1

TA 1 |E202-830 Tr. Array TA8428K CBM-231Only 1

2 |E390-140 Tr. Array STA301A 1

3 |E202-890 Tr. Array LB1650 1

TR 156 |E359-278 Transistor ~ 2SC2785HF(2SC1740SR) 3

2 |E358-040 Transistor  RN1002 1

4 |E 358-050 Transistor  2SJ139 1

D 1-8.10 |(E 400-580 Diode MPGO06B(RL14002) 9

11 |E3221-041 Resistor vaw 220 J 1

OsSC 1 |EB01-320 Resonator CSA25.00M X040 1

2 |E501-330 Resonator CST16.00M XW040 1

R 19 |E3181-041 Resistor vaw 180 J 2

2.4 |E3333-041 Resistor VAW 33K J 2

3 |E3683-041 Resistor vaw 68K J 1

5.6.8.11 |E 3103-041 Resistor VAW 10K J 4

7 |E3682-043 Resistor VAW 68K F 1

10.17 |E 3101-041 Resistor 4w 100 J 2

13 |E 3103-043 Resistor VAW 10K F 1

12.14.15 |E 3332-041 Resistor vaw  33KJ 4
16

20 |E 3105-041 Resistor 1AW MJ 1

CITIZEN

19



CBM-230/231 Service Manua

Modédl
CBM-230/231 |PCB ASSY
Service Parts List CBM-230/231-RF(230-01)
Ref. Parts No. Description QTY'
RA  1.2|E 3500-040 Re. Array M9-1-103J 2
3.5|E 3500-050 Re. Array M5-1-103J 2
4|E 3500-060 Re. Array M8-3-221) 1
C 1|E 2047-780 El. Cap. 16MR-470MF 1
3|E 2047-725 El. Cap. 35MR-470MF 1
13-15(E 2010-615 El. Cap. 25MR-10MF 2
16.17|E 2047-535 El. Cap. 16NR-4.7MF 2
C 2.9|E 2220-080 C. Cap. DD305-63F104212 9
CP1-6.9
C 4.5|E 2220-090 C. Cap. DD104-63CHO050C50 2
10|E 2220-100 C. Cap. DD106-63F103Z50 1
11|E 2220-110 C. Cap. DD104-63B102K50 1
12|E 2220-120 C. Cap. DD104-63B471K50 1
CA 1|E 2000-070 Cap. Array  B5RC0124-33N 1
CN 1|E 4800-915 Connector 5267-05A-X 1
2|E 48000610 Connector 5597-30CPB 1
3|E 48000615 Connector 53047-0410 1
4|E 48000620 Connector 5268-06A-X 1
5|E 4800-950 Connector 5267-03A-X 1
6|E 48000530 Connector TM5RJI3-66 1
7|E 48000630 Connector  5268-04A-X CBM-231 Only 1
8|E 48000635 Connector 53047-0610 1
9|E 48000640 Connector 171 E-13250-27(D3AC) 1
* EUR Only(Meter Screw)
E 48000645 Connector 171 E-13250-27(D3CC) 1
* UL Only(Inch Screw)
DS 1.2|E5103-230 Dip Switch  KSD-08 2
3.4|E 5103-470 Dip Switch  KSD-4 2
F 1|E 4005-770 Fuse MQL5 1
BZ E 7151-120 Buzzer MEB-12-5 1
CITIZEN 20



CBM-230/231 Service Manua

@_E—w- - 0

cngi
CA

- D e

DSt z
o B
BEBB88888 pm
12345678 92
m - 1| o KSD-8 >
g HEIEG BEEEE888 P
B 3le 12345678 z
2 Ds2
o| & F
Qg 3
E]
Q & O
s | i !"_ e
a
= O /ﬂ ﬂ O O
3 sA [ bbbl TN neRoo
‘s,g o8 3
Swmsl <7 E T7LE-13280-27D3A0) LPNEUR B J S
= =} ~N Efl TLE-122560-27(D3CC} USA)
o. 2 8
AN
28 9
© S g +
]
3 -
2
7 e
v 3|Ek
ER
B
e N «
e [+
¢ |88
g fat
=N
s 3sEC-0748 [

CITIZEN 21



CBM-230/231 Service Manua

Mode
CBM-230/231

PCB ASSY <Paralel>
Service Parts List

CBM-230/231-PF(230-02)

Ref. Parts No. Description QTY'

IC 1{E 107-220 CPU uPD70433GD-5BB 1

2|E 104-530 Gate Array  202LA-00 1

3|E 107-230 S RAM L C36256AL-10 1

4|E 107-24* EP-ROM LE27C512F 1

6|E 201-830 TTL 7415139 1

7|E 202-430 TTL 741500 1

8|E 202-860 Reset IC PST520E 1

9|E 202-880 HCMOS 74HCUO4 1

10|E 2010200 TTL 7406 1

11({E 4101-710 DC-DC Conv. SI-8301L 1

12|E 2010220 TTL 7415240 1

13|E 202-810 TTL 7407 1

TA 1{E 202-830 Tr. Array TA8428K CBM-231Only 1

2|E 390-140 Tr. Array STA301A 1

3|E 202-890 Tr. Array LB1650 1

TR15.6 |E359-278 Transistor  2SC2785HF(2SC1740SR) 3

2|E 358-040 Transistor  RN1002 1

4|E 358-050 Transistor  2SJ139 1

D 1-8.10 |E 400-580 Diode MPGO6B(RL14002) 9

11{E 3221-041 Resistor /4w 220 J 1

OosC 1{E 501-320 Resonator CSA25.00M X040 1

2|E 501-330 Resonator CST16.00MXW040 1

R 1.9|E 3181-041 Resistor /4w 180 J 2

2.4|E 3333-041 Resistor 1/4W 33K J 2

3|E 3683-041 Resistor 1/4W 68K J 1

5.6.8.11(E 3103-041 Resistor 1/4W 10K J 4

7|E 3682-043 Resistor 1/4W 68K F 1

10.17.21{E 3101-041 Resistor 1/4W 100 J 3

13|E 3103-043 Resistor 1/4W 10K F 1

12.14.15|E 3332-041 Resistor 1/4W 33K J 4
16

20|E 3105-041 Resistor 1/4wW M J 1

CITIZEN 22



CBM-230/231 Service Manua

Modéd
CBM-230/231 |PCB ASSY
Service Parts List CBM-230/231-PF(230-02)
Ref. Parts No. Description QTY'
RA  1.2|E 3500-040 Re. Array M9-1-103] 2
3.5|E 3500-050 Re. Array M5-1-103] 2
4|E 3500-060 Re. Array M8-3-221) 1
6|E 3500-070 Re. Array M11-1-332J 1
7|E 3500-080 Re. Array M9-1-332] 1
C 1{E 2047-780 El. Cap. 16MR-470MF 1
3|E 2047-725 El. Cap. 35MR-470MF 1
C 2.9|E 2220-080 C. Cap. DD305-63F104Z212 11
CP1-6.9
12.13
C 4.5|E 2220-090 C. Cap. DD104-63CH050C50 2
10|E 2220-100 C. Cap. DD106-63F103Z50 1
11.14|E 2220-110 C. Cap. DD104-63B102K50 2
12.13|E 2220-120 C. Cap. DD104-63B471K50 2
CA 1{E 2000-070 Cap. Array  B5RC0124-33N 1
CN 1{E 4800-915 Connector 5267-05A-X 1
2|E 48000610 Connector 5597-30CPB 1
3|E 48000615 Connector 53047-0410 1
4|E 48000620 Connector 5268-06A-X 1
5|E 4800-950 Connector 5267-03A-X 1
6|E 48000530 Connector TM5RJ3-66 1
7|E 48000630 Connector ~ 5268-04A-X CBM-231 Only 1
8|E 48000635 Connector 53047-0610 1
9|E 48000625 Connector 57RE-40360-730B(D29A) 1
DS 1.2|E5103-230 Dip Switch  KSD-08 2
F 1{E 4005-770 Fuse MQL15 1
BZ 1|E 7151-120 Buzzer MEB-12-5 1
CITIZEN 23



CBM-230/231 Service Manua

O 011@;“ GI%IH1 ‘@1 ‘15
 Taek

CNt

10

THoES-IS LIl

12345878

= - Sg 1[on (=)
o} E1%.3 SISISISIS IS SIS
8 sé 12345878
3 Ds2 81 D4 &
-4 —z
g8l i
M I (| I
6 ég RAS 33K-8
g Q
Q
po A
S = o ;
gamgl = % ]
- N S7RE-40300-7308XD29)
o, Bl &
S S N
538 @
o 3 = b
335 5°
3 AEp
Z
-
Rol e g =
zZ > G
Sl ¥
23 cF
S < =
ES|2B S
:_gg ag
=S o - A
5 <
(2 2
Bk =
Ep 9
ol. = 7
k| (9] 3sec-o751 [H]

SNJ

20-0€2 "

v-035
NYdYr NI 3avi

CITIZEN

24



CBM-230/231 Service Manua

Mode
CBM-230/231 |OP PCB ASSY
Service Parts List CBM-230/231 (230-03)
Ref. Parts No. Description QTY'

LED 1|E 480-290 LED SEL 2310E 1
2.3|E 480-330 LED SEK 2210S 2
SW  1|E 5102-490 Switch SKHHBV 1
2|E 5102-500 Switch D3C-2220 1
R 1 |E3221-041 Resistor /4W 220 J 1
2.3|E 3471-041 Resistor /4W 470 J 2
E 4900-070 Harness 25-0255 1

CITIZEN

25



CBM-230/231 Service Manua

-2 i}

SEC-1782 %

Brown

E4900-070
/ (25-0255)

SEL-2310E

>xL=23510E |
\.Oa 1
R3

.—__/
LED2

U 0’0
5
;

O

LED3
230-03
MADE IN JAPAN
SEC-870094V-0
P 8]
= ot
sw1 SKHHBY swW2
D3C-2220
|
TH%GLE TREATMENT MATERIAL Tn |
UNIT_mm MaRK | DATE REVISION REVilo | GHECK |
TAE TOLERANCE WODEL Ty TE  CBM230/31 !
2/1 | AOLE CBM-230 () Parts Layout : OP PCB ASSY

, APPROVED |DESIGNED |DRAWN PARTS No.
Japan CBM Corporation | A% | M8 | &S

940811 ] 940811 [ 8408 11

CITIZEN 26



CBM-230/231 Service Manua

I mﬂm:ﬁ.&

62
“r_l 18151 v/8/nt

AM..V.

[:)

2

i

TER! TER2

R&

4700P/400  £700P/200

|

Ty
= Bu..s.uu.,-_.n_ ] 03}/ mu
FI AN P i i g
s { 2 15\
g rl—.uL - Bnm 213381 o0 m.: gl o
73 grd

“gl
i E&‘
afft
o.547/2%

[_mige
L
Ce

7 nrs21 0u-CB]

e

RESISTOR CAPACITOR
AEWARKS PAATS _NAKE [RENARK! PARTS NANE
HO_KARK (Pa5] NO_MARK[ELECTROLYTIC =
[ ® __[TANTALYM CABACITOR
[NO_MARK[CERAMIC CTAPACITOR
NAMIC TUGULAR GAPACITOR
m. METAL PLATE RESISTOR POLYESTER FILM CAPACITOR
FINE PROQF CARBON FILM RESISTOR POLYSTYRENE FILK CAPACITOR i)
C__|CEHENT KQLOED RESISTOR 0 1CA_CAPACITOA
7] Ml VARTABLE AESISTOR ® OLYPROPYLENE FILH CAPACITOR
CHIP_RESISTOA ENLCONQUCTIVE CERAMIC CAPACITOR

[SCHEMATIC_OTAGAAM]
(MOOEL [230-/0E 1

311 /none/useri/user 47670 s /PONERG. 00 |
JCILEF RELE T S 1

27

CITIZEN



CBM-230/231 Service Manua

7003510801
o
M2 1120-080x

3
—4
22000/ 121 |

ez
ol
017751

63jem0

om0 0 |

I
:
€10 a 2
gl

LI
2
(0
bare
2

220007128

Srem : =
% c1a1sty. a3
2

04
D4001E/F

B
H

RESISTOR

220g/2s
21
oy
22

It
1A764318
X g b

w1224
04

a2

aff

CAPACTTOR

(120V)

0.047/2%0

REMAAX
NO KARK

PARTS NAME

CARBON FI(M RESISTOR [P=5}

METAL FILM RESISTOR
METAL PLATE RESISI0A

CEMENT MOLDED RESISTOR

SEM] VARTABLE RESISTOR —

CHIP RESISIOA

C_CAPACITOR

RAMIC _TUBULAR CAPACITOR

LYESTER FILM CAPACITOR

LYSTYRENE FILM CAPACITOR

CA_CAPACITON

Bi1 /nome/users/user4/67HG1/PONER. 001

e T R4ART

28

CITIZEN



	Title
	Contents
	Assembling/Disassembling Procedure
	How to remove Top Cover
	Remove Mech. Bracket Unit
	Remove Control Board
	Remove Power Box
	Remove Switching Box

	Circuit Diagram
	Service Parts List

